= z? + y* and

(a) |5 points| Sketch the region bounded by the two paraboloids z
2 = 8 — 22 — y*. Then set up a double integral which gives the volume of this

region. (Do not evaluate the double integral).
Compute the volume of the region bounded by z =16 —y,z =¥,y = z?

(b) |5 points

and y = 8 — r?
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. Ly 2, 2
2. Prove the inequality / / ———— dA < 8, where D is the disk z°+y" <
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W which

3. |5 point 3 c 1 .
points| Using triple integration to compute the volume of the solid region

ies in the first octant: z > 0,y > -
T+y+2 =1 Z ’y_0,220a.ndboundedbytheplanesz+y+z—1and
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- |5 points | Compute the following integral using polar co-ordinates. 7~

)
//;f(:c,y), dA, where f(z,y)=(z?+¢?) FandD:2’+y’<Lr+Y2 L.
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